N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

[N o associated

malized x2 |

track vs nor|

0

[N of reci

ey

02 3
00 x M
— O s
©
© S
—
< .-
— 3
@
o S
—
o .-
—
0
©
<~ ..
o
o
3 S
s3oex aeoldnp syl aeoldnp ey
32
b 2X
et ... 0O X
o — O
J m 3
= ©E 1
i < s
] — A
£ 5 "
E >
. o 3
& 0 :
.m. © 55
7 - < 3
N 3
3 X
© ot
S =)
syoen ey
02
Ny ,
..... 00 X 7
‘I_M M E 2
........ mﬂ g ]
Q 3
. | e_ 3
4 — = ) H
e ~ nwr 4
] 3 g H
: - £ Hi H s
2] m 3 : -
E H T
= . AR H :
¥ u_ A i K
¥ © 0 Hi] SELeE
| — o H
E A A
= < ° S
i T 3
3 L AN
= ~ ] 3
B o) AHEENN 2
a £ i ¥
2 28 BN BN -
c < 3
2.2 swoen Sta -
i}
Lo
0o
22
k]
EF
o. [EE
N BS
00 X X_
oA O
< =
— (o4
o
~
—
o
—
. X
© .
s
g
~ S
g s
~ °
]
O i ubri )
= 2 - < @
w w 4 - =} © o w
syoelf oney Z| syoei”




	Contents
	Page 1


